201 S AN Shabekice

I %;:‘\W R

Q) i) ?(C’@:‘;Wf\%rc:sw\\c)) = P(%Ffm n AR N RuW)

==

ObLxO TTRO A
= ‘3‘2’%7%’;

i

Q‘\ PCAQ\’" rebaved, b0 wa l&) = ?(@F'MV\@@ n @W\>
T &6 x 0 TX O

= 00

L) P(sem | Ra') = P(SFM aen')

T p(en)
= p(sFm')

A

| ~P(ra)

= oG
=0 6wo-7

— O

059

= e 62965 .

o 690 Cé%‘?)




.7:[2&3@ 4o Ep 6O

P (k=)

. < c. c. <

o) oS f?(x:x) = |

D Sczl =D e=02
x 26 20 ko 50 4o
PlK=x) | 0.2 02 02 02 O 2

h) ) E(X)= 7 2P (X=x)

Denwed L 4, 4+ LOKROL

(7(5 R T-X 4.4“;,@3 w o
Do KoL

= 4o
() = T o> P(X=x)

- (;2@2—% 2024 .. é@l’> kD' 2.

= GepOwo 2
= |Boo

Vix) = e(x?) - (B3]
= \@Qoo — 40"

= 200 .
o EWX) =40, V(X) =200

N

Wy P(Xzm) = p(X=4ko)
= P(xx%}v@(%fc»@)
—_— 02 4 O

= O




3.

0) L) nek p@%;\{@@{ 4o obtala a sanple o exam merhs as. ..

o lro r@cv\”ﬁf‘ mg"j ke c:o#@fﬁﬂf\ﬁal

a leéﬁ pﬁsli\ / «oam/mefi("/ dishachon Wldfj ,E'z re corcled ﬁ@,f\}“i’m‘iﬁ

foter Hoon an numencal Ccowes,

Ji) obloin 157, b planishs farn 20 cenes
Due o drapel cosk reohredions , we went to areid v‘\glmga\\ 20 cenhves
Hence. o Goran ' cluster ﬁla:mgi!t’\ii /‘Md suir
Co  consder Ahe 20 centres 4o eachh be o cluster
Sy e have sulicient eppores v Visit 4 centrez,
Use g\'\m?}@ tanclom ‘E?mn,f{@ fo celeck e 4 centves fam Ao, 20
Ca\lmmm caclcenlve a pumbar fom | 4o 20 /o«\d ten ronclon (:j
generste Pour li’\“*feéu‘s between | aned 20 Mclm&\/e).
WL Hese four centes ibonhGier] , visif eoch one and conduet™
eiler a QM/ple vardom Sangle. of 16 ), of Aleir Plaaists Scores,
o perfornn shoofi(ied Sanpliy,
For skediRed Sonplvg | deeat eack Gracke o Ploder (qode | to 2)
as « skeeta | and celeck \9:) Q\Wle,, random sanple a @c@‘mr%mM

ﬂuml&r oﬁ F*aﬂ‘ld’? Qom eacla chatn. do ot}al‘vx 157, A ’Hre,"f"o’(al




3 b)

let X? = p\kﬁmo Scoce

Ne = 16 52?::"7‘7 Sp= (0

let Yy = vielln Scec

Ny =4 2, =%2 ¢, =%

s we dre Avld o M/\M a lsfé:est'/ e assune Hhat Ate parm}"mwhﬁov\
chandard dopobiore o dle Sare 5o thal we /7@‘;’!" He Qamﬂ& cla

ve als asure’ Yleak }{@ ard Xy o€ ol\shr\lwi*ed NNWWG%'
Se S22 = @p ~Dep + (w\v»\)sj,ﬂ?

Ny HNy =2
e 15 %o 4 12%g?
W4 —2
- B2-235 7
¢ = {126\
2 i€

X?NN(/MP/O?;?”) qr\ca\ X\/ ~ N (/MV)CS,V'L.)
flen tot php = /40

s e < My
Aecume Ho 10 b dme . x =57 |Hail test
festetatishc , & = X ~2,

p—

o

4L
s [ 4L
Np Ny

_ 71-82

|
L
Q'QZ\/']“Z"—W

i

— 1 b TO9
vaa{l/e, = P(t1g<

i

e

\‘L{»Cﬂoq)
o OTT2TIN

Roon ©CAE (- 999 —1447,28)
S ©.05

H‘@/\ua, we. do nob hane St/\m\‘(/‘\ﬁf/\r' @Xc}@(\m

ab He 57 leweldo F“*cf:je_d” H,
Orcd s e co rebilo thek

e clo s ‘WHQN’&&@?'”Q@ Ehat
mean (3\‘@;\0 marhs ere less fhah Me mean violia ma rleg

velare] doiationg.




@) 92 2727 (29 29 30%‘30 %0 32 (2) 3% 34 35
\ |
meclian M2
&l 35;‘
Co m@?@g”@\
- %21 *'*"Zﬂ
- 2

UFM @e,r\mw = &?b‘f 5 TAY,
= 294 \'5 %2

e

|ower @em:@, = A\ - |'6 ToL.
= 29 -5 r3

R ver ab Ale lower end,

Ce ZZ&'Z‘/-'@’ wie. hewe. one outl
by 1) ﬂepl\o%’ 1S Map‘om,ovial*e as i does ot tncorporode fre paiced
Nodue of Ale doto .

. b Me,\ﬁl"\”
\\\3 a SCCLHQJ‘ eto‘(’ would ge, belfe s~ Qé X

guf\Oe Si2e
| e dichibubions of fle sepomte date cers were assumed to ke nemua )
Hen lo'warl\q’c, grg,léjﬁt c,,eaux(d be ﬁé)ﬁfﬁo/‘mec! +0 €§M’9“§‘A \lc ¢ lmeor

relakonehip existed
A ‘f’\\dﬁmg\g test on Ale Cortelabion coelicient T, vould be dore.

[£ successGal , Hena [inecs eclmahﬁm could Y calunlated and reciduo

\OLO(TS“ exoonined -
I+ rv\o:j ke fLat o non- linesr pelohon exitls, on

o howe 4o be Jeapelformed in Some Y

d A e claig
4o hvd a lineos

el m’("\@ﬂ‘?;%?(a .




5, W@QM»:) SQN?LQ s‘w_a/ n=5

29 weeles SawﬂaSA

For Pest ZLDwee\mS/ xX=-61, s=9056|

&) |> X = SCC weasuienen v
2 X has E(X)fy«z\/ Vor(X) =52
{ren ¥ has EE(F("\:/,, Ver(X) = ﬁ‘g

so high alomn imir = & + 6 \/%3

= —L) 1+ 6 x\f‘iﬂ‘;ﬁ sa?
z

e — &l 4+ 6x 4 0500l|

Rl

|2 1200\

= 122 (M)

el

\\) FW?{' value exceeds B2 fm weele 25,

b) ‘1) l/“‘ PMC@S}' l\;\ Caﬁm‘ ) P(C\b@w (,’,@(\\'\4 \;L"\ﬁ 3 %’P(bd@w cenhe 'Me> = Jé
P (0\ (fomk‘c all on one sicle ) = P( 9 th\:’r above )+ P (‘{ il kelow Y
- @)

o 003904

i

'fl) q ?aM\’S m & row (all abowe) L,"lmwiéfw%?o

D oubof 32 ,Ledjpﬁg\ Sane ?g'@m [\ i in weel 16

e ————T

e s




130 skiess.

S= Wc:»@/\k o sleer S (7 5 16)

E = ME)L\{' & effMipr’ E~m (‘O/ 2)

wie. UJ\\\ oStuuwve r‘f\d.e,ec,mieﬂ\gg_ QC M‘l&‘ﬂ\*’@ @C‘ %k]ézy;;l W@f\&’/\"vs GQ E’?M/f,ome/\tﬂ c:lf‘d
u@,\@lﬂh &£ equmm‘“’ & eacl eloies

let Ty=

—
[
T

[agn .
v Jb"‘”ck

weght & o shiery with Aeic equjprmt

T, ~ M("’?gwol 16+2)
Ty~ = (85,12)

lek +otel weight of 130 shiesy TW = T, +T,+.. +Tiz0

E(TWY = 130% E(T,)
= (20 % €5
= 105D

VITW) = VTt V(T )¢ 4 V(T
= {308

e

= 2340
5o TwW e~ (11050, 2340)

P(TW > l200) =P (z > \\’?-Oownoso)

V220"
— ”PCZ,, > 31c0R7)

-

O 0COHES

oy

x oo (bdp)

P ——




19 sanples gowe 2 = 146 , Sn-1= 1hb
X= no. & doces per hectore .

o) letue asume X dictabued nonwally

X NNQ/?/CJ’WL

- -
o X NN(/“‘/T’@

a8 we'te @QHMH/S & wikl g , e use e 6;."7 disMLw%{m,

Se 57 CLlor pa \s & L (inoq—vs\/g—z
0PV g

Hl'é

T 46T 20 (o%z\ &

U6 T oT2604 |

(612296, 2 18604 )
(¢7%,219) (2s¢)

k) 2000, 5 =587
) s 587 is cutside He CT fomdle (A30'c e could reosombb conclude
Aok Hhae has been a dechine 11 e vumber of lorge. 4rees.
Foen € we Areated 587 as He cente of o conlidence inrerval  conctneted
e Amilar way te ke@m@ 5&7 + 0726 s chll not wirhin (67%,819)

bone Abe Pafvdahm Mean 15 Wﬂ un \la,b do be. He Sae now as iF wee tlen

) ) | would be comdione obou ghdﬁvfs e anal&s}s velidetes tle Ia?o(«icjigf'é

concems as tlefe Ma(j be. many oter Qactars ab work -"Bczjaﬂd oerter

g;lz\@rf‘ua@ = Hat o teacliva to o dochine 11 numbers. of (arge trees.
Ainbes @@mg could e@c}lﬂ hore Hle Sane elfect,

Meo (Mgﬁ"' Jeees Fake o \cwﬁ Heve, o gov, and, e Porrest ey not~

Ware mahviecl ex\@ua\n 4o have er\mﬁk trees of sUlhclent gt%%ﬂ

ke Counted, , oltrer Ony oreas hod been Fol «J ot bumt clue to Forest

Fees.




3.

&) LD~ Fold)

V)=t = ct.dov =2

so P 4-2<ctaeq+2)
= P22 wee)
= O 114 e

i f?q f 7 (@“@Q())

LY X e (4,2Y)

o P(u-2 £XEh42)
= P 2 x<d)

v 274 4%)
(Freze?t

= P(-127<))

Gomn porss Cd€ {é{tg% 6)

= 0 682428 fem nermldé (=1,1)

ol

r 06826 (hep)

=T S

9 Vv u (6,10)

¢ E(Y)= TH=¢
V(Y)w(lo ;) z;ﬁ;% =
N

1

® 0.677% (4dp)




Ci‘ X = lead concentrolion 1n e QCINPLQ

o) pm‘o\@m t the centre & o 50x50m square. ma,:) net e 0n area o
@r@l’s%(\ P }‘V\dﬁﬁf‘é\ s oy é}ze@“gﬁfﬁﬁf‘” one o fle v'n“aga,{fmlwe&‘
g‘,(uﬁm © Centides (‘3‘3‘42‘3 “*” §W\QU<’J' 57uomﬁ oQ lcmc’\/ S“"/’Z‘J ORIOm g?"w@
Aore would be, 25 of Hlese swaller Sc7mo/t:52  He FOX5D rcj'ioﬁ
Aen p@rﬁor‘vv\ random ,SmNpr‘/ﬁ without™ replacement o tlege
25 featons unnl a sguare was located whose Cenlie wvas afen sorl,

and net bloclked ésJ any dwelh\/ﬁ or stvmiler obstetion,

k) E(X)= 1456
vix) = 221%
N = 'Zf;.

‘|(1 “)Z = Meéan C)@ndﬁ?,ﬁ\“fe:ﬁ“é,m/ Hlen t)J Céntval L\IMI” ﬂtof‘ﬁm/ % i! o‘p@wxﬂwﬂ*‘e(ﬁ

- 231 L
v\omm\,\,n digtvibuted , K (léS'é,) “2'5) ) os e Canple Si2ze 1S ‘Qge,\”h/or\ 20,

C) ld’ VY= contaminahon at™ \/il\ogeﬁ
Accume \/(V) = 2?"7‘/ as before

lex VNN (/4 22"3 vherc ??Mcgncc 25 s‘awples

/15

=15

H“o'yU\f 656

H, > 6516

Wssume Ho Ao ke fve
=5y | ailtek

= 2%
so ¥~ (16506, %3

P—vqlue = P(V > \—74’5)
|45 ’lég'e)

e

2%V

25

= P(z>1h92641)
= O 027027 Coen  normCdf (1:92,9699)

=P(z>

£ 0085 o
% we hove evdence bo et Ho and conclude Aot e el in

\fi(\agg A has & mean cancenttalon Aot 15 M@Lef than 16516 "2,3/-’%




O,
© P (recapture) = 02

@) X= 10, o rodeds fretons ly captured
X ~NB(20,02)
P(x=2)= 2~§) 02> 08"

= 0205364 fom binomPdf (20,02 3)

% 012054 (4df)

S ———;

b) \/ = no ‘
no. of rodents prexiocs ((\j cﬂoomeol/g{“ cecond. site
Yo B(45,02)

Opproxwate Y o noval distibution ,a8  45%02 =q 55

45 KDQ =26 55 /afo(@m i<
m.ep%algte as
/\f)w.ff mz?%
et W= wnomal approx o Y
W o~ N (45'xo-2/ 45 %x012%x0 €)

e ~N(°l/"7'2,)

& P(52v410)

i

P45 €wWslos) by e

- P 45 -9 <7< IO»S-@%)
( Vi T e whwe  Z ~nN(0)1%)
= P(-1167705 ¢ 725 0 5500(7)

= O 665159 feom normCel® (=677, ©554)

il R AT

Q) @bS l "M = exp ‘ ™\ e
R |58 6l Q| b2ues3 46 61T
NR | 295 182 NR. | 250519 186 ‘485

\-l—a L no assecietion between @wd@)“ and tecla (qu“ﬁ Slahis
Wt e Vs an aSsociedion

Pesure  Ho+e Letasie.

K =6, |t dest

1: (O’G“P'e—)l o 1 € 2
X =2 S = o 2475

N o= CQ,'\)K (2-1) = |
50 ?(76'\7“::» 04 2675) = 0 22159] > 005

Hence we do wot' hare emelence o l\e\,ijec;t“ Ho ,qm\ we conclude dhak
e de nat Vaye  errdence dff an asseciohen bebuween %W@J@r
and. recapbure Stedus. \




W, Q) X =no. of residents i Poros (corvpand A)

X ~ 8 (100, §)

. - A , : N A
agprxvele. X vitls nomal distbution Y —» =0 61, tlea np 5 ctnd ng >5

o aczc,@(’hmbte aﬁ@,@/{w@ﬁ’m ‘
s Y~ (10of lOD?\%)

let %—O = lompovﬁ“m o rosident i Fovour

A

So ‘;)/.5 ~ (P, ‘%%)

YL
S99/ T s é\t ZM%\/%

R .
O‘él + 2'57gg%\/0v6(><o'3q

(O

i

= 06T 0125636

= (0484364 073563 )

 (uvyr 1eny ()

s an approximare  iterval e o fle Nowval am/‘OX'WGHM to fle
Binomial step ot fle outsel,

b ¢ X= o, d residentz i Porouur (cmv)oan& B)

X =8(n,f)
o % v (f, %‘i)

o v ‘f’lf\é’—d ae 997 conbidence thot e Mg‘orﬁoorﬁcm € evesr 5D (»rte maj@fikzj)

% F( %— > O'S) = 099 whaore. % - N (0.5% 0'52 x0 w2

WA
A L
f 699
, T o mzess n
(o‘ogq-azq)z“ﬁ gﬁ;\’iw
// 094 - ’ .
// _  05ex0¥4?
1 ) )

L

(o o 3u3ra)"
) /
~2:32635

n ¥ 205.99

Hence. Comm:ﬂ B must hore ashed) od
least 206 residents

i ————c

ﬂ«om\ mv /‘[b/‘M (0'0 l)




O‘) maﬂﬂ"/\/b\ih\(g \e G!F(ON{“AQ*Q as Ae fuwo Ol]S*(‘Y\\QM,‘HQ/\S Q(': (aqn;enf\'ogg_ blue iﬁc“ Cover have QI\M“Iof"
Shapes bo Aleir dictabufions and fle data 15 nol™ Qeiveel .

Al /’ﬂe detbubions do ne agiesr +o be gyv»wdﬁca\ /nom«a,% distbuted ( \cg@/jg)

ard s £ -Eests and Z-tests oo nel” a‘opm!orgq%”ei. '

b) W,= 480

1) W median ship | = median ship 2
W, wedian ship | # median ahip2
Assuve Ho to ke tme

=107, 2~ fail test

4

W, =480 from n=20 .
Totul fank Sum = % x40 x41 = @20 51
Hence W, = 820 ~480 = 34O | ;3\7 | \
Minimwn fanke sum = 3 x20%X21 =210 210 340‘ (o

MO\X'\\/V\AM mV\h 9MN\, s iyé(oxfﬁ —ZlO 36(0 34

we want Fo lovo P((A)Zs%o) whee. AT =20,

Foom fables , ve byow> Hak P(wez4R) =005

so P(W,2340) <605

So 2 P(W, < 240) <O \O

Hone | we hote evctonce o o eck Ho at Ale (07 leed

Ie conclude ot thee s | llaélc\jnlo be e difPerence. n the Po,ovdaﬁ?m\;
median percentage. blute bell cover , behueen +le w ShpS .

'\‘l) IAF'\“ ’H& 57/ l%l/ we. wau‘o\ \/Wﬂ ‘{‘@Jj ot re\ijed’ed Hb 60\&6189:«,{”@ ‘l/\,@f;
Arat P W, £3840) s just undes 0105 g0 Alak c&oub\’@ i+ Medes 1

exceed 5 )
|¢ we'd no r\e'je,d’ed/ Hen wed hore concluded Hat He medians were M’dﬁ

4o be e Sane and Hawvs that C_u\-%h\ﬁ n S{Mg o awduma makhes [itHe.
NRerence vh e numbar of bluebells

[“l‘() ?N;Cjtdon N\?SN? be )N\ot‘Oved b:) .P[a(}rzfj More Han 20 cimaclmf’g In eack
shop oo well a¢ e/\sm\vxg none o He lecmy\b owloege&“ﬂm locatbn

- a @M\cus ciur;ldm\*.




o) fre wd;@okk Smggc,st:s
- flere \€ O non-limear correledion between area 2 numbe of s(QQ,{eg

— Ye data lor Flonda is Such an outlier flud jsstetus as M\g feeatdd as an island)
'S lf\i@“\j ﬁMBOAab]&.

b) 27375 S, = 262676 S,= 26375 Sxy= 15254 n=13,

y = "@3’«» (Number o gfm,'iﬁ&)

,« Sx 715234
r= __,.iw_,‘ T ey = O QO353
\/Sxxs‘dg \/%'?éxz'cg‘?{;

Se  Coe® o C&QJ\"“UV\A\;\C«LHB’\/ € = 6. 216369

Wence Ale et Squores Pe&:es%tb\ hne accounts o 8167, of Lo vonalion
Pmmk w Ale Aransfhrmed data .
Thig \/\%L valre Su:ﬁes{’s Wl e lineor moded of fle Hrng(rneel olata

wou(d 8&@@%’{1’, relioble {Jrechdrﬂor\g.

Q) x = 2544
so g-—- 09202 + 02864 x 2544
= | 64283
Ao we have an irclividual case, v shall cohwet o ‘om,ﬁl ickion tnterval
anound Aig J% valwne.,

A Lot i T X)
= \Lj :}: t:“/ﬂ)‘QS xS \/|+ v Srn e

. e ﬁ 375 12

] (25441 — 13
) ) 1o ufa
64882 T 179588 x S = \/l iz 26 2676

— Sy
SSA - - Y

6 484695
So S = W

S ST O 2099\

= O 484695

S Qo7 PT e | 6uBEZ L | Tq568 xO»Zerouz\/;,J@ + 0'055513%
= reuse2zt o 4o0ll65
s (024766 ,2.05)




So Min. Slaﬁc::\e,;?» \ \QS‘Q(W\':»X) = 247646

e, P R
=) min = \TT 687

Q\\m{\whj( max = |02°°

i

W2.20

Wence o 90y ()mdl\c,{%-n indenval (oc He number of C@c,dar s 116 4o 122

(<18 (‘OLAQL\(AO ‘g/ ko \\2 .




